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QUESTION 1

Which two determinant types are used in reference data assignment? (Choose two.) 

A. Business Unit 

B. Account Segment 

C. Project Segment 

D. Project unit 

Correct Answer: AD 

 

QUESTION 2

You are not able to initiate a bankruptcy request at the customer site level on behalf of a customer. Which two
conditions are failing? (Choose two.) 

A. Preferences must be enabled and Enable Bankruptcy must be set to Yes for the customer. 

B. The Collections Administrator creates a bankruptcy request in the Customer Relationship Management (CRM)
application and a collector should have the Collection Manager and Customer Profile Administrator roles assigned. 

C. Preferences must be enabled and Enable Bankruptcy must be set to Yes in Manage Collections Preferences in the
Functional Setup Manager for Advanced Collections. 

D. The Collections Manager creates a bankruptcy request in the Customer Relationship Management (CRM) application
and a collector should be configured as a resource. 

E. Bankruptcy must be applied at the customer level, which includes all transactions at the customer, account, and Site
levels. 

F. The customer does not have the default strategy and default collector assigned at the customer account and site
level. 

Correct Answer: BC 

 

QUESTION 3

To meet the business needs of most organizations, "Common Set" is seeded InFusion for all set- enabled objects with
the exception of _________________. 

A. AutoMatch Rule Sets 

B. AutoCash Rules 

C. Revenue Scheduling Rules 

D. Customer Site 
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E. Aging Methods 

Correct Answer: D 

 

QUESTION 4

Your client processes many customer refunds on a regular basis and would like to have information about recent
refunds (including their status) for analytical purposes. What should you do to meet this requirement in an efficient
manner? 

A. Create an Oracle Transactional Business Intelligence (OTBI) analysis. 

B. Search in the Receivables "Manage Credit Memo Applications" page, then export results to Excel. 

C. Run the predefined Transaction Details Report. 

D. Search in the Payables "Manage Payments" page, then export results to Excel. 

Correct Answer: A 

 

QUESTION 5

Your customer has a state tax of 20% and a city tax of 10% as non-inclusive tax rates that are applicable on a
transaction line. Your invoice has two lines: Line1 with $600 USD and Line2 with $400 USD. What will be the resulting
tax and invoice amounts for your tax invoice? 

A. state tax of $166.67 USD for the invoice, city tax of $16.67 USD, and an invoice total of $1,184.34 USD. 

B. state tax of $166.67 USD for the invoice, city tax of $91.11 USD, and an invoice total of $1,257.78 USD. 

C. state tax of $166.67 USD for the invoice, city tax of $91.11 USD, and an invoice total of $1,000 USD. 

D. state tax of $200 USD for the invoice, city tax of $10 USD, and an invoice total of $1,210 USD. 

E. state tax of $200 USD for the invoice, city tax of $100 USD, and an invoice total of $1,300 USD. 

Correct Answer: E 
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